Chapter 1
Graphs

Chapter 1 Mixed Review Worksheets 3. (0,0),(-4.,6)
1. —x*+3x+1=0 a. distamce:\/(—4—0)2+(6—O)2
Use the Zero option from the CALC menu.
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The solution set is {-~1.53,-0.35,1.88} . it
2. x*+7=x*-2
Use the Intersect option on the CALC menu.
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The solution set is {-1.59,1.59} . . Nz =N !
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Chapter 1: Graphs
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6. (-4,0),(-3,0),(10),(0,24) -10
x-intercepts: —4,-3,1
y-intercept: 24

9. y=5x
7. x+2y=4 X-intercepts: y-intercepts:
2y =—x+4 0 =5x y=5(0)
0=x y= 0

y=-Tx+2 . .
2 The only intercept is (O, 0).

1=0-1/2h+2 -
“'ha___a \L\ Test x-axis symmetry: Let y =-y
e —y =5x

T y =—5x different
sh vz l=a =z Test y-axis symmetry: Let x =—x
; y =5(-x)
L y =-5x different
\— Test origin symmetry: Let x=—x and y=-y.
L -y =5(-x)
(0.2 . y=5X same
:%_I_I_I_I_ T @0~ Therefore, the graph will have origin symmetry.
B 10. 9x% - y?=9
_5 N x-intercepts: y-intercepts:
9x* —(0)* =9 9(0)* -y* =9
8. x*+2y=16 9x* =9 -y* =9
2y =—x* +16 Xt =1 y*=-9
1, x=x1 no real solutions
y= B X“+8 The intercepts are (-1,0) and (1, 0).

Test x-axis symmetry: Let y =-y

\ 9x2 —(-y)* =9

N
/
N

9x%> —y? =9 same
E'i::o _ \\ EEF\?I _ \ _y
=" = L= = Test y-axis symmetry: Let x =—x
9(-x)*—y? =9

9x2—y*=9 same

2
Copyright © 2013 Pearson Education, Inc.



Chapter 1 Mixed Review Worksheets

Test origin symmetry: Let x=—x and y=-y. Test x-axis symmetry: Let y=-y
9(—x)* —(-y)* =9 X2 +4x+(-y)? =2(-y) =0

9)(2 _ y2 =9 same X2 +4X+ y2 + 2y =0 different
Therefore, the graph will have x-axis, y-axis, and Test y-axis symmetry: Let x =—x
origin symmetry. (—X)? +4(-x)+y* -2y =0

X2 —4x+y?—2y=0 different
Test origin symmetry: Let x=—x and y=-y.
nereepts: (-7 +4(-X) + (~y)? - 2(-y) =0
0=x"-5x"~36 X2 —4x+y®+2y =0 different
0= (X2 _9)()(2 +4) The graph has none of the indicated symmetries.
x*-9=0 or x*+4=0

y=x*-5x*-36

13. (x=h)? +(y—k)?> =r?

x? =9 x? =4
X =13 no real sol (x—3)2+(y—4)2:12

y-intercepts: (x B 3)2 +(y 3 4)2 _1
y =(0)* ~5(0)* ~36

—_36 4. (x=h)?+(y-k)* =r?
The intercepts are (3,0), (-3,0) and (0, -36). (x— 2)2 +(y—(—4))2 _q?
Test x-axis symmetry: Let y =—y ) )
_y=x*—5x2-36 (x=2)"+(y+4)" =9

4 2 H
=-— ff
y=-X"+5x"+36 different 15 (x+2)2+y2:9

(x+2)* +y? =3
Center: (-2, 0); Radius=3

Test y-axis symmetry: Let x =—x
y=(-x)* -5(-x)*-36

y=x*-5x*-36 same

s
Test origin symmetry: Let x=—x and y=-y.
4 2
Sy ()" -5(x)" 36 -
—y=x*-5x*-36 (=2,0)
y =—x*+5x*>+36 different

[

lll}\l__l/flll

Therefore, the graph will have y-axis symmetry. -3
x-intercepts: y-intercepts:
X*+4x+y* =2y =0 (x+2)*+0% =9 (0+2)° +y? =9
x-intercepts: x* +4x+(0)> —2(0) =0 (x+2)2 _9 4+y2 =9
X" +4x=0 x+2=43 y2 =5
x(x+4)=0 X=_2+3 y:i\/§
x=0,x=-4 x=1or x=-5
y-intercepts: (0)* +4(0)+y* ~2y =0 The intercepts are (-5, 0), (1 0), (O, —\/5) and
y2—2y=0
y(y-2)=0 (0.5).
y=0y=2

The intercepts are (-4, 0), (0, 0), and (0, 2).
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Chapter 1: Graphs

16. x> +y? +4x—4y-1=0 The slope of this_li|_1e is —1, so the slope of a line
2 2 perpendicular to it is 1.
, X +4);+ y —4y=1 Slope = 1; containing (4,—3)
(X* +4x+4)+(y* -2y +4)=1+4+4 Yy =)
(x+2)°+(y-2)" =3 Y- (-3) =1(x-4)
Center: (-2, 2) Radius=3 y+3=x—4

v

y=Xx-7 or x—-y=7

20. x-2y=8
x-intercept: y-intercept:
x—2(0)=8 0-2y=8
Xx=8 y=-4

The intercepts are (8,0) and (0,-4).
x-intercepts: (x+2)° +(0-2)" =32 P ‘ (8.0) (0.4)

(x+2)° +4=9
(x+2)* =5
x+2=15 LL1l1]
X=-2++5 —
y-intercepts: (0+2)2 +(y—2)2 =3
4+(y-2)°=9
~2Y =5
y ) 1 1
y_zzi\/g 21 EX—ZyZl
y=2%+5 x-intercept: y-intercept:
The intercepts are —2—J§,0, —2+J§,0, 1.1 = 1ot -
pts are ( ) ) Sx-7(0)=1 ~O-3y-1
(0,2-+5), and (0,2+5). %le —%y:l

17. Slope = -3; containing (-4, 2) x=3 y=-4
Y=Yy =m(x=x) The intercepts are (3,0) and (0,-4).
y-(2)=-3(x-(-4) ‘_"‘
y—2=-3x-12 -

y=-3x-10 or 3x+y=-10 B
L (3.0) ]

18. Slope = 0; containing the point (2, 1) A =
y_y1=m(x_xl) N -
y—1=0(x-2) ‘(0__4)
y-1=0 ;/-

y=1

19. Perpendicularto x+y=2
X+y=2

y=-X+2
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